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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 
a, 

June, 2011 
CT) 
Co 	 CHEMISTRY 
CD 

CHE-6 : ORGANIC REACTION MECHANISM 

Time : 2 hours 
	

Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	(a) 	What are electro-philes ? Why lewis acids 	3 
behave like electrophiles ? Give examples. 

(b) Why 1, 3, 5 - cvcloheptatrienyl cation is 	3 
aromatic whereas 1, 3, 5 - cyclopentatriene 

is not ? 

(c) Discuss pinacol-pinacolone rearrangement 	4 
of 2-rnethvl-3, 3-diphenyl-2, 3-propanediol 

in presence of cold H2504. 

	

2. 	(a) 	In case of addition of halogens to alkenes, 	4 
why do fluorine and iodine do not add ? 

Discuss with appropriate example. 

(b) Name the intermediate formed in the 	3 
following reaction. Complete the reaction 

and give the mechanism. 
Cl 

Cl  NH2 
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(c) An alkene on reductive ozonolysis gives 	3 
hexandial as the only product. Give the 

mechanism. 

	

3. 	(a) When phenol reacts with chloroform in 	3 

presence of aqueous sodium hydroxide, a 

hydroxyaldehyde is formed. Give 

mechanism of reaction. 

(b) What products do you expect upon 	4 

nitration of nitrobenzene and toluene ? 

Why ? 

(c) How would you get trans -3-heptene from 	3 

3-heptyne ? Give mechanism. 

	

4. 	(a) Why SN2  reaction of neopentyl bromide 	3 

with sodium ethoxide is slower as compared 

to that of ethyl bromide ? 

(b) Out of the following identify (i) the best 
	

3 

leaving group and (ii) the most poor leaving 

group and why ? 

I ,F ; Br ,OH  

(c) Which of the following will be more reactive 	4 

towards nucleophilic addition reaction and 

why ? 

Cl CH, CHO ; CHI  CH2  CHO 
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5. 	(a) 	What are stereospecific reactions ? Discuss 	4 

with reference to the reaction of butadiene 

with maleic and fumaric acid,. 

(b) Predict the product in any THREE of the 	3 

following reaction : 

(i) 	CH N, 

CH3 Br2  

h u 

OC H2  CH = CH2  

Heat 

(iv) 
NBS 
CC/4  

(c) State Savtzeff rule giving one suitable 	3 

example. 

6. 	(a) Give reasons for any TWO of the following : 	4 

(i) CC/3CHO forms a stable diol or 

hydrate upon reaction with water 

whereas propanone does not. 

(ii) Bromine is less reactive and more 

selective than chlorine towards 

halogenation of alkanes. 

(iii) Rearrangement of carbocation is not 

taking place in E2 reaction. 

i) 
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(b) How would you prepare the following 	4 

compounds from aceto acetic ester ? 

O 

(i) (CH3 — CH2)2  CH — C — CH3  

0 

(ii) C — CH3  

(c) Write the mechanism of Norish type I or 	2 

Norish type II reaction. 

7. 	(a) How are sigmatropic rearrangements 	3 

different from cycloaddition or electrocyclic 

reactions ? Discuss with appropriate 

examples. 

(b) Write short note on any two of the 	4 
following : 

(i) Wittig reaction 

(ii) Antimalarials 

(iii) LDPE and HDPE 

(c) Give one example of any THREE of the 	3 

following : 

(i) Triphenylmethane dyes 

(ii) Xanthene dyes 

(iii) Analgesics 

(iv) Antibiotics 
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fagT9 	ici 	(t,i.)  

	

Id 	ITNAT 

r, 2011 

	

tk41q1 	fd—OT9.  

: bI r1h 34541-T7T341 t ch 	ci 

TITR7 : 2 FTT 	 3-TAN)cl H 31.T : 50 

	: 	rW7:  cirri 3/7-q-f 3-ffT TY-47 / fi 3f/ 

	

1. 	(a) 	 trkt ? 774 34-it 7---1-j9-4-#F-74 	3 

t 	cb-174 c=F4 	t I 	trr"-7 

(b) ra-, 1, 3, 5 - 	 NetN-1 	3 

	

4-7TY 	f t 7-4f-T-  1, 3, 5 - 

(c) tt H2504  '"1 3lit2Tf7 14 2- 14f21f--3, 	4 

3- - 17cb—f9"--.2, 3 - 	,f-fr31-f9 	fftf- - 

(-1-11<=11 f;'1 	 ,11 	.tf* 

	

2. 	(a) 	ki 	I1Z11 st 74-cf 	-,R;13-trfri AT 	4 

3174t7 

 

.jcf ç'j- 	 tJ t 
TrT2,T 	t11-177 I 
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(b)  3 fi1-9f9f:6-1 3T1 4̀1 -7114 74 14W7-dl -wr -114-1 

6-1-5-ir*T 771 	qT4f -7.  311{ FiAircirq 
Cl 

ci 	Ni-i2  

NH3  

(c)  3f-17114 	311:19Z9 74 6c4-ilq 3 

t 

1F1 	(b1t11ftTI11k 

3. (a) 3 11'1 1 -T174TT 	frn 	• 	1;1 31:TFT-2-1t 

ZP71,VT1'21%-(14 	34'4114)71 T77T t 

TTIT-TF-14-4-If.11.9,,1;g77. 	(1-1c11 t I 	1 	3Tfd[1 

,.:.1t4.1T i 

(b) 7:4 3Trq 	71-1 4 

41:; 	:41:Ici 	-4-1*-4 

(c) JTT 	; - 	 - 3 - 	t*-14 	c+-)I•k 517 3 

? 	r-Z111f7N 	frq'irziu.. I 

4. (a) '21-f-IFT1 7Tr2.i 3 

?:Ti'4if:*)741 111- T9 	ThI 

fii 	ti trill-1174 	t? 

t)) f.rffj 	-4 4 	-tr' 	TE-1 	Ujf4 3 

11t -TT 317t7 TFIF,  t 

7.474i.q Tri 7;74 	 3t17 

, F 	; Br , OH 

(, ) 4 -4 -4 -0t9.-Trr 	4,4-)(1,-f 

'11 *.q741 .? 

( IC( b,C1-10 741 CE-13CH,CHO 
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5. 	(a) fqr-414 far-77z 31-fiTr 	err 	cit? .1e.1i-f 	4 

TT 41T -cf4f7T 3 	i 772,T afif-Tzrr 

4of 	--1-r--A7 

(b) 	 -44 74 7%---TR-77 31fif-*-713ff 	1 	i 	3 

a 	ii f-of-TT : 

(i) >- CH2  N2  ho  > 

CH3 Br2  
(ii)  ho > 

OCH2  CH = CH2  

(iv) 
NBS  
CC/4  > 

(c) 	 s3q1-if 	 f971-14 Tht17I 	3 

6. (a) r-11--IFrii6c1 	 *Rut 	: 4 

(i) 	CC/3  CHO 	t Tf121 3-T1ilt*-7 . •-•74 717 

.2-1-rert st-tic-f 	c1-licat74T 

?112,T tR-1 	it 	t 

Avr 

37-FITF -zurvfi-9 -cr7q 

wititc-4-1* 	 t 

(iii) E2 3-1f9TFM-7 14 on I N-11q-1 TT 

	t I 
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(b) itz.ch 	14-1 ian -0T-4 c) 

f*--T1 4c 	 q7T4 ? 

0 
(i) (CH3  CH2)2  CH C CH3  

0 

 	" 
C— CH3  

(c) ,c 	)R I 3-19-Ali -C or 1,1ehR II 34-Fif--*--za 	2 

i;fr--1 I Fol  

7. 	(a) 	 ;ichlt 	ochri-f 7 	3 

	if 5.1.0 

(b) 	rii—troRgi 	 -97 41-kr itucruft 	4 

f-.4717 I 

(i) fqrarr 

(ii) 	R11k)t I 

(c) F-14-irorod tr 	(171 -11-.CTT 	3 

F•711, I 

(i) iK 	Flo 

(ii)  

(iii) y1slit1  

(iv) 	cich 

CHE-6 	 8 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

